BRYCE CANYON SOUTH NEIGHBORHOOD STREET RESURFACING AND WATER IMPROVEMENT PROJECT

Specification No. PW 18-05

Owner: City of Oxnard

Bids Ope	ening: 5/6/19				Construction mpany	Toro Ente	erprises, Inc.
				1000 Town Center Drive, #300 Oxnard, CA 93036		2101 E. Ventura Blvd Oxnard, CA 93036	
					#1	#2	
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	EVALUATION QUANTITY	UNIT PRICE	EXTENDED AMOUNT	UNIT PRICE	EXTENDED AMOUNT
1	Mobilization/Demobilization (not to exceed 5% of Total Bid Amount)	LS	1	\$199,583.00	\$199,583.00	\$135,000.00	\$135,000.00
2	Traffic Control And Public Convenience And Safety	LS	1	\$118,300.00	\$118,300.00	\$203,000.00	\$203,000.00
3	Storm Water Pollution Prevention Plan	LS	1	\$15,000.00	\$15,000.00	\$17,000.00	\$17,000.00
	STREET IMPROVEMENT						
4	Cold Mill AC Pavement (2" Max)	SY	32,500	\$3.00	\$97,500.00	\$2.30	\$74,750.00
5	Unclassified Excavation	CY	360	\$57.00	\$20,520.00	\$71.00	\$25,560.00
6	Class 2 Aggregate Base	TN	60	\$40.00	\$2,400.00	\$63.00	\$3,780.00
7	Asphalt Concrete, Type III (DGAC-B2 PG 64-10)	TN	450	\$105.00	\$47,250.00	\$140.00	\$63,000.00
8	Asphalt Concrete, Type III (DGAC-C2 PG 64-10)	IN	350	\$98.00	\$34,300.00	\$155.00	\$54,250.00
9	Asphalt Concrete, Type III (DGAC-D2 PG 64-10) Asphalt Rubber Hot Mix (ARHM-GG-C PG	TN	350	\$140.00	\$49,000.00	\$107.00	\$37,450.00
10	64-16)	TN	7,000	\$115.50	\$808,500.00	\$108.00	\$756,000.00
11	Crack Seal	LB	5,300	\$3.75	\$19,875.00	\$4.00	\$21,200.00
12	Slurry Seal Type II (RAP)	SY	46,000	\$2.00	\$92,000.00	\$2.10	\$96,600.00
13	Remove And Replace PCC Sidewalk	SF	3,680	\$10.75	\$39,560.00	\$8.50	\$31,280.00
14	Install PCC Sidewalk	SF	3,720	\$11.50	\$42,780.00	\$7.25	\$26,970.00
15	Grind PCC Sidewalk	SF	100	\$20.00	\$2,000.00	\$28.00	\$2,800.00
16	Remove And Replace PCC Driveway	SF	1,400	\$30.00	\$42,000.00	\$24.00	\$33,600.00
17	Remove And Replace PCC Cross Gutter and Spandrel	SF	7,800	\$27.00	\$210,600.00	\$23.20	\$180,960.00
18	Remove And Replace PCC Curb And Gutter (Type A2-6)	LF	1,800	\$60.00	\$108,000.00	\$67.00	\$120,600.00
19	Install 24-Inch Root Barrier	LF	1,000	\$10.00	\$10,000.00	\$36.00	\$36,000.00
20	Adjust Manhole Cover To Finished Grade	EA	43	\$475.00	\$20,425.00	\$855.00	\$36,765.00
21	Adjust Water Valve Cover To Finished Grade	EA	57	\$450.00	\$25,650.00	\$798.00	\$45,486.00
22	Adjust Water Meter Cover To Finished Grade	EA	4	\$450.00	\$1,800.00	\$745.00	\$2,980.00
23	Adjust Survey Monument Cover To Finished Grade	EA	24	\$400.00	\$9,600.00	\$1,150.00	\$27,600.00
24	Install "STOP" Pavement Marking (T)	EA	22	\$155.00	\$3,410.00	\$158.00	\$3,476.00
25	Install "SLOW" Pavement Marking (T)	EA	8	\$155.00	\$1,240.00	\$158.00	\$1,264.00
26	Install "SCHOOL" Pavement Marking (T)	EA	8	\$175.00	\$1,400.00	\$185.00	\$1,480.00
27	Install "XING" Pavement Marking (T)	EA	8	\$155.00	\$1,240.00	\$158.00	\$1,264.00
28	Install Bike Lane Symbol And Arrow Pavement Marking (T)	EA	18	\$100.00	\$1,800.00	\$105.00	\$1,890.00
29	Install 24" Yellow Crosswalk – Ladder Type (T)	SF	1,200	\$5.00	\$6,000.00	\$5.30	\$6,360.00
30	Install 12" Solid White (T)	LF	600	\$2.75	\$1,650.00	\$2.65	\$1,590.00
31	Install 12" Solid Yellow (T)	LF	1,500	\$2.75	\$4,125.00	\$2.65	\$3,975.00

32	Install Detail 2 (T)	LF	2,800	\$1.50	\$4,200.00	\$1.60	\$4,480.00
33	Install Detail 22 (T)	LF	1,500	\$2.75	\$4,125.00	\$2.65	\$3,975.00
34	Install Detail 39 (T)	LF	15,500	\$0.75	\$11,625.00	\$0.79	\$12,245.00
35	Install Detail 39A (T)	LF	1,440	\$0.85	\$1,224.00	\$0.79	\$1,137.60
36	Paint Curb Red	LF	2,400	\$1.35	\$3,240.00	\$1.45	\$3,480.00
37	Install Blue RPM	EA	42	\$10.00	\$420.00	\$11.00	\$462.00
38	Install White Yield Line (Isosceles Triangle) Pavement Marking (T)	SF	40	\$2.75	\$110.00	\$2.65	\$106.00
39	Install SW24-3 (CA) Sign	EA	3	\$250.00	\$750.00	\$265.00	\$795.00
40	Install SW24-2 (CA) Sign	EA	16	\$250.00	\$4,000.00	\$265.00	\$4,240.00
41	Install SW24-1 (CA) Sign	EA	3	\$250.00	\$750.00	\$265.00	\$795.00
42	Install W11-2 Sign	EA	4	\$200.00	\$800.00	\$211.00	\$844.00
43	Install W16-9P Sign	EA	4	\$155.00	\$620.00	\$158.00	\$632.00
44	Install R1-5 Sign	EA	4	\$255.00	\$1,020.00	\$264.00	\$1,056.00
	Install Or Remove And Replace Street				Ψ1,020.00		ψ1,000.00
45	Name Sign	EA	50	\$190.00	\$9,500.00	\$195.00	\$9,750.00
46	Install Or Remove And Replace Sign Post (Street & Traffic)	EA	46	\$155.00	\$7,130.00	\$158.00	\$7,268.00
47	Remove, Relocate Or Reinstall Traffic Sign	EA	27	\$125.00	\$3,375.00	\$132.00	\$3,564.00
48	Remove, Relocate or Reset Sign Post with All Attachments (Street & Traffic)	EA	10	\$125.00	\$1,250.00	\$132.00	\$1,320.00
49	Install 18-Inch PVC Storm Drain Connector Pipe	LF	46	\$230.00	\$10,580.00	\$457.00	\$21,022.00
50	Install Curbside 2-Grating Catch Basin Per City Std Plate 503 Complete-In-Place	EA	2	\$7,500.00	\$15,000.00	\$9,310.00	\$18,620.00
51	Install Junction Structure #4 Per City Std Plate 524 & Connect 18-inch Pipe to RCB	EA	2	\$1,600.00	\$3,200.00	\$3,580.00	\$7,160.00
52	Furnish And Install Detectable Warning Surface Tiles	SF	655	\$42.00	\$27,510.00	\$32.00	\$20,960.00
53	Install/Remove And Replace PCC Curb Ramp With Detectable Warning Surface Tiles	SF	5,000	\$31.00	\$155,000.00	\$20.50	\$102,500.00
54	Remove Concrete (Gutter & Spandrel)	SF	600	\$10.50	\$6,300.00	\$4.50	\$2,700.00
55	Relocate 6-Ft High Chain Link Fence And Gate, L=35' And Install Additional Chain Link Fence, L=15', Complete-In-Place	LS	1	\$4,000.00	\$4,000.00	\$6,800.00	\$6,800.00
	WATER IMPROVEMENT						
57	Install 10" PVC Class 200	LF	1,380	\$155.00	\$213,900.00	\$135.00	\$186,300.00
58	Remove And Replace 10" PVC Class 200	LF	520	\$170.00	\$88,400.00	\$152.00	\$79,040.00
59	Install 8" PVC Class 200	LF	6,580	\$110.00	\$723,800.00	\$97.70	\$642,866.00
60	Abandon Exist 10" CIP In-Place	LF	1,370	\$12.00	\$16,440.00	\$11.00	\$15,070.00
61	Abandon Exist 6" and 8" CIP In-Place	LF	6,460	\$5.00	\$32,300.00	\$5.50	\$35,530.00
62	Install 10" R.S. Gate Valve	EA	5	\$2,800.00	\$14,000.00	\$2,815.00	\$14,075.00
63	Install 8" R.S. Gate Valve	EA	18	\$2,200.00	\$39,600.00	\$2,150.00	\$38,700.00
64	Remove And Replace Fire Hydrant	EA	10	\$8,600.00	\$86,000.00	\$9,425.00	\$94,250.00
65	Remove And Reconnect Fire Hydrant	EA	3	\$3,900.00	\$11,700.00	\$7,335.00	\$22,005.00
66	1-Inch Water Services Replaced	EA	223	\$1,900.00	\$423,700.00	\$3,110.00	\$693,530.00
67	1-Inch Water Services Replaced @ Southside of Redwood Street (From Sta 10+50 to Sta 22+00)	EA	18	\$3,900.00	\$70,200.00	\$3,200.00	\$57,600.00
68	Temporary Water Services Up To 2 Inches	EA	20	\$975.00	\$19,500.00	\$1,145.00	\$22,900.00
69	1-Inch Water Services Replaced And Relocate WM Box @ #4007 Complete in	LS	1	\$3,500.00	\$3,500.00	\$3,840.00	\$3,840.00

70	Install 4" Blow-Off Assembly	EA	7	\$6,100.00	\$42,700.00	\$6,815.00	\$47,705.00
71	Install 2" Air-Vacuum Assembly	EA	7	\$5,900.00	\$41,300.00	\$6,420.00	\$44,940.00
72	Dewatering	LS	1	\$4,500.00	\$4,500.00	\$9,730.00	\$9,730.00
73	Trench Safety	LS	1	\$50,435.00	\$50,435.00	\$16,490.00	\$16,490.00
74	Relocate Backflow Assembly & All Components Complete-In-Place	LS	1	\$1,700.00	\$1,700.00	\$5,860.00	\$5,860.00
			Submitted Amount Verified Amount:		\$4,195,212.00		\$4,320,272.60
					\$4,196,912.00		\$4,320,272.60
	ADDITIVE ITEM 1						
1	Water Services Replaced 1 ½ - 2 Inches	EA	5	\$2,380.00	\$11,900.00	\$3,480.00	\$17,400.00
				Total Additive Item 1	\$11,900.00	Total Additive Item 1	\$17,400.00
	ADDITIVE ITEM 2						
2	Trench Stabilization	EA	100	\$40.00	\$4,000.00	\$105.00	\$10,500.00
				Total Additive Item 1	\$4,000.00	Total Additive Item 1	\$10,500.00
	ADDITIVE ITEM 3			-		_	
3	Relocate Existing Waterline up to 10-Inch	LF	60	\$325.00	\$19,500.00	\$226.00	\$13,560.00
				Total Additive Item 1	\$19,500.00	Total Additive Item 1	\$13,560.00

TOTAL SUBMITTED BID AMOUNT:
TOTAL VERIFIED BID AMOUNT:

\$4,232,312.00 \$4,232,312.00

\$4,361,732.60 \$4,361,732.60

Subcontractors:

C.T.I.
Cell-Crete
Chrisp Co.
Rubberized Crackfiller
Sealant
All American Asphalt

Subcontractors: Chrisp Co

Chrisp Co.
All American Asphalt
Total Barricade Services
Caseland Surveying,
Inc.